EARAROBREBRT —5 XN—ZXBISH—F 202328258 (£) 2@4L1H

R PR A S T BRI
[#E<] 1 7% :5,500,000 . 23 :2,200,000 3 . 33 :1,400,000 3 . 43 :830,000H 53 :550,000
BERS MR ME | BF (FB) |[9/L (@B | ®BIEG | B3F [SEH | AT | #E | A6 FB) / B / £ERS

HA =Ty 33 g%?%ﬁ 1:(1_1).5 1-1 37.6| 90.1 | 4 (4320) gif%gb(a_%?ﬁ_l .
R:O0—RKAFO7 B:TILINYR=L FEIS
JyYy—Jr— % 3 | EREX (11:112/.2(; 22 |37.5] 8.4 1 (4+220) %\gJﬂﬁ =R
RinZ—ka1—X B:N\VFUL J#EZ 7 — L
FAHFvTTY # 3 | ERGR (13:112/26) 23 |38.0]82.9] 5 (1_1152) gégmz €]
R T RD—ILEY 8Ly RILYN BERTY R
AJ=vay #o3 | AR 1:(153)'5 A e R gg *E(g)%%%%)?w—ﬂaj‘u\yw
RR/—R5TY B:Yv)bIYL—3 FHERTY R
JI)Lw—9 i3 *ng";‘;* 1(71?:)6 n-11 [38.0| 74.2 | 8 (4:; g@ﬁg =)
R:F4—=FITUVSVF 8B:5—FvT HFEIUS

« M SAIIHTF 43 E%EJOEE (12114/2(; 4-4 39.3]71.7 | 2 ‘:gf iﬁﬁé? __ﬁ%ﬁ)
RiFRF BIALIVIALLR BRSMIBI A/ T7— L

715] 9 T ILH—IU i3 EJ%I‘%— 1(:11/42.)1 8-7 38.9] 70.1 | 15 (4_222) ﬂ:ﬁégiéiﬁ)
R:aAN/UvF— B:AX—~TFLVY BKEIS

glsli0l AN/ BYY3 B 8| LERR 1(;4&)2 1312 [38.4] 69.1 | 16 (ﬁg} E%% (=)
R:ZIWVFNSY2 B:Tqvyatfe—b WL 5

9l111|RA=bL—1 3| GE— 1( 71?1:)2 44 1395]70.2 | M zg)s ?jf;i\%‘ *ég;ﬁ)
RL—IZZSIL BiF—ENVE—F WA AR

101815 LyUagsvz 4 3 ﬁ%ﬁtm (12114/26; 6-7 39.8]67.3| 3 :1_33 fgg%ﬁﬁﬂ (=)
R:7ROFVITL B:F4—FLIVR B IE—

1" 12| A% AIWRSAY 4 3 ;'S%Tgﬂﬂ% (11:114/.29) 8-9 39.7| 64.4 | 9 (4_6:) ;’ﬁu.lf:@ (E#)
R:aN/UvF— BIVERRXTY RIS

B 5 | RVvoFo— A ey, 1 (:11/52.)0 89 397|636 | 6 (ﬁ;) Eg;g =)
R:O—IRAVAA BUIIRR7T— SEARAIS

13 4| K—LS5Y9—— 33 éle%'ﬂ'ﬁ% 1:(137 12-12 | 40.0| 58.1 | 13 (4_1?3) 2%&; ESE)
RIAYYTISYya B:VIAAE2 H—RSN—JZFYR

1] 2| PUPORYF A R N CO ER L o -
RiLYyRI7IVIR B:AST)WLOIVZA THRMIS

1517 14| FW= T2 3 | FEEE 1159 13-14 | 40.1] 56.6 | 12 (4+188) 7((%%’%6%}?)_[‘\
RTFRIAVL—Y B:AIWLTFY/F X SIS FEIN

" . NEEPErETL, 53 %ggf%ﬁl (11:115}.21) 16-16 | 38.0 | 52.4 | 14 (53(; Eg&%ﬁ (=)
RTAYVENY B:VTATARU—L SEANIS

[ BN

Enty) 49.2-37.6

NOYVF AL | 12.0-10.6-11.6-12.5-12.3-12.8

@ 1—F—@BIEfI
13—7—
23—7—
33—F— | 6(8,13)(1,16) 3,15)-(9,5,12)-7,4(10,14) =2=11
43—3— |6.8.13(1,3,16)-(9,15) (5.12)7-(4,10)-14=2=11

@ ILRE
& s 6 630 | | DA R 6-8 320/ | | B E 3-4 530/ | | 3&E& 6-8-13 2,530MH
& B 6 1704 6-13 770 | | BB &= 6-8 690 | | 3:&& 6-8-13 16,220M
8 140M 8-13 650/ | | 5 = 6-8 1,830M
13 240

ABIC OV TRUTEREERRODDZE. THRIIZEL.



